rd
=)
-
&
2,
5

(A1a e ey R

Aol 1 29 (grammar) G= ] 7FX] 84 (V,%, S, P)2 24 =}

Ve vlegd 73 Jg]a,
Y= oLJ].tHIo]_,_
SeVe A& go
PE AAFAEY
EHS’ ZHA]=H], o 7

€ (Vux)* ot

2 EW A BeVabe Do Bt

]2,

e v~

ol

P stoleh. 2 4474
T

A ze (VU V(Vun)* OIE

aAb — bBa




66 (VUX)*of tfspof

A—=x

<A

=
=

A—2t A—y

A—zxly

e =4= sk o FHAsHA A

i

(TAh)

(Aol

%

Ol

(*§A)

oF
B o
T &
T
T o
-~ -
)
< )
5 &
*_ mp
1 =
O g
= =
W o
Uvon_o
S ®r
M
O_ 3
0
3 ]
— A
° X
. X
#
fod o
oo Zo
1_v_|]
s
ol

% (derivation) 2}

uAv = wwv

2 BABT gebA

o) {(M&el)

"

TE(FAZAN(E

=




‘\q/

i

(.
S
TN =

—‘ —
PENMT __w
M\Eﬁﬁ_.%A )
T o= X Mew
&= Woon o o

—_—— — — —

3},

Y

e SSx(ze(VUux)ol
e S=w (weY)od w

~E)olety Bet

ot} 22} of
59 5)2}.

=
LN

q_” .
| .

NeX
=

o] o
AT

1.

*
= w

{we¥*: S

L(G) =

oAl 1 G=({S},{0,1},S,P) o] P~}

S —051]e€

o
I
B
B
ar
I
A}

B

S = 051 = 00S11 = 0011

AAE L(G)

T
T

oAl H

o] (context-free language )2l 12 FEr}.

ANA 2 G

({53:{()}, 8, P) ol P7}F

S —SS|(S)]|e




S =85=(5)(S)= ()0
S =85 = ((9))(S) = (00
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